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(Total: 100 marks)

(
&
A,  Suppose the aggregate demand a supply schedules for a hypothetical economy
~ are as shown below. ,L,
g
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S 200 300 - 800
Q,, 400 250 800 ‘
“500 200 600 & | . .
800 150 400 St e
1000 100 200 A,
w

Use these sets of data to graph the aggregate demand and supply curves %

your answer script.

(4 marks)
Identify the equilibrium pnce and output level in this hypothetical economy.
v (2 marks)
Clarify the reason that the pnct{mdex of 180 and 250 are not at the
equilibrium level. dﬁp
V. (4 marks)
’P.L
Suppose demand increases by RM 400 billin at each price level. Determine
the new equilibrium price and output. OCD
<D (2 marks)

A

E‘ lllustrate your answer in the diagram of aggregate demand and supply earlier

Ogonstructed in (a).
"SJ—

(2 marks)

B. Evaluate the likely effect of the following events would on Malaysian aggregate

demand (AD) curve. e
(AD) < 3,
o2
i. Malaysian goverﬁrﬁe@@decided to reduce personal income taxes. ‘&_
e
T
J
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Y (3 marks)

ii. Income falls in several countries that trade heavily with the Malaysia.

L

’7/?,

A. The data in the first two columns below are for a private closed econoniy”.Based
on the following data, construct a new table in your answer script anc{/‘hnswer the
following questions,

00 120 10 15
AT 125 140 10 15
sz-‘ 150 160 10 15 |
& 175 180 10 15 &
he 200 200 10 15 U
225 220 10 157
250 240 10 115
275 260 10 (@ 15
. Identify the equilibrium GDP for the private closed economy. Q,O
(1 mark) %
fi. Calculate net exports and aggregate expenditures in a private open economy (ﬂj‘
and enter your answer in the table earlier constructed.
(4 mar
e
iii.  Identify the equilibrium GDP for the private open economy. -
(1 mark)
iv. Determine what will happen to the equilibrium GDP if exports were RM 5 billion
larger at each ievel of GDP.
(2 marks)
v. - Retermine what will happen to equilibrium GDP if exports re:qalned at RM 10
(,‘p lion, but imports dropped to RM 5 billion. '9)
(}O o %Q (2 marks)
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Determine the size of the multiplier in this economy.

< 2 marks)
% _ (

Clarify reasons exports are added to, imports are subtracted from, aggregate

expenditures in moving from a private clo&fj:l economy to a private open economy.

o (4 marks)
O

Explain the effect of net exports, elther posﬂwer'r negative, on the equilibrium

GDP.

(4 marks)

G’P
K
Assﬁ?&that a hypothetical economy with an MPC of 0.75 is experiencing sdvere
recession. Oo.a&)
L

By how much would government spending have to rise to shift the aggregate
demand curve rightward by RM 30 billion?
(4. marks)

How large a tax cut woﬁd- be needed to achieve the same increase in
aggregate demand? 2

—y
2.,
Determine one possible combinatidh of government spending increases and
tax increases that would accompli%he same goal without changing the
amount of outstanding debt. -‘9_

{4 marks)

(6 marks)

O@;ieﬂy discuss the fiscal policy action most likely to be invoked during a period of
& i

jon.

) (6 marks)
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Define money? Describe three functions that a commodity must fulfill to be useful
as money.

. (4 r@:ks)
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B. Define the reserve ratio. Explain how a change in the reserve ratio affects the
money supply.

(4 marks})
C. Use the figures in the table below,toﬂari's'wer the follél\fing questions,
QO Billions (RM)
Small time deposits T 1250
Money-market mutual funds held by bli,éhesses 1300
Savings deposits, i.e. money-markgfXteposit accounts 1620 Q“\
Money-market mutual funds helqﬁy individuals 805 (}0
Checkable deposits 836 .g
Currency 325(\::k ’
Determine the value for: ,\f\.ﬁ
i M1 _ R
i, M2
Show your w(s(king for all the above computations.
(,O (4 marks)

D. Discu{s(?TWO (2) of the principal tools of monetary policy and evaluate how each
Orfz_ t;h‘e tools is used during of recession and high unemployment.

’ _(8 marks)
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A.  Two countries; Taiwan and Singapore, have the production possibilities for @

'

computer chips and fuel injectors, shown in the tables below. Note that the costs -
of producing computer chips and fuel injectors are constant in both countries. A
data are in 1000s. Qg\L
O

Computrhlps
Fuel injectors 0 | 20 | 40 |60 |80

tie
Computer chips
Fuel injectors
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i. Let say trade occurs between Taiwan ‘and Singapore, determine which nation
should export what product based on their comparative advantage. Clearly
show your working.

'O,L. (4 marks)
< |
&, ii. ldentify the limits of limits of the terms of trade between Taiwan and Singapore
"Ey with regard to computer chips and fuel injectors.
'EL, (2 marks)

S
iiii. A%gne that prior to specialization and trade, Taiwan and Singa“gpre chose
pro_a@'_on possibility “C.” Now that each specializes acﬁging to
comparative advantage, determine the resuiting gains from this trade~gxplain
your answer. N
(6 ma#s)
OCD
B. Following is hypothetical balance of payments data for Country Z. All numbers areJ?L
in billions of Z dollars.

Goods exports + 45

Goods imports =51

Service exports +15

Service imports ¢ -6

Net investment income ?(';‘ ~-10

Balance on capital account - +3

Net transfers '7,?3 +12

Foreign purchases of Country Z€assets +25

Country Z purchases of assets abrctaq:l =33

. &)
Based on the above data, determine the amount of: '?L
p

A-, i. Balance on goods and services
g C‘" Balance on the current account

it Balance on the financial account
iv. ABalance on the capital and financial account

Show your working for all the above computations.
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